
Aire et Volume d’un Tronc de Cône (I)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
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r1 = 63mm

h = 126mm

r2 = 21mm1.

r1 = 90 nm

h = 72 nm

r2 = 72 nm2.

r1 = 96m

h = 96m

r2 = 24m3.

r1 = 80,36 km

h = 92,12 km

r2 = 38,92 km4.
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Aire et Volume d’un Tronc de Cône (I) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 63mm

h = 126mm

r2 = 21mm1.

Aire: 48.904mm2

Volume: 756.452mm3

r1 = 90 nm

h = 72 nm

r2 = 72 nm2.

Aire: 79.504 nm2

Volume: 1.490.170 nm3

r1 = 96m

h = 96m

r2 = 24m3.

Aire: 76.001m2

Volume: 1.216.023m3

r1 = 80,36 km

h = 92,12 km

r2 = 38,92 km4.

Aire: 62.898,37 km2

Volume: 1.070.803,35 km3
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